Word Problems

Subtraction

1,208 animals live in the State Zoo. Due to overcrowding, the zoo must give away 253 of its

animals to other zoos. How many animals will the State Zoo have left?

The local bakery has an order to make 2500 cheese rolls. So far, they have made 1,198 cheese

rolls. How many more do they need to make to meet their order?

The local school raised $4,932 for a new sports hall. The sports hall costs $9500 to build. How

much more do they need to raise to be able to build the hall?

4,082 nails were needed to build Tom's new house. 1,793 fewer nails were needed to build Peter’s

house. How many nails were needed to build Peter's house”?

AN

Mount Everest is the highest mountain in the world at 8,848 metres. Mount McKinley is 6,194

metres. How many metres higher is Mt Everest than Mount McKinley”?
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Word Problems Answers
Subtraction

1,208 animals live in the State Zoo. Due to overcrowding, the zoo must give away 203 of its

animals to other zoos. How many animals will the State Zoo have left?

955 animals

The local bakery has an order to make 2500 cheese rolls. So far, they have made 1,198 cheese

rolls. How many more do they need to make to meet their order?

1,302 animals

The local school raised $4,932 for a new sports hall. The sports hall costs $9500 to build. How

much more do they need to raise to be able to build the hall?

$4,568

4,082 nails were needed to build Tom's new house. 1,793 fewer nails were needed to build Peter’s

house. How many nails were needed to build Peter's house”?

\ 2,289 nails

Mount Everest is the highest mountain in the world at 8,848 metres. Mount McKinley is 6,194

metres. How many metres higher is Mt Everest than Mount McKinley”?

2,654 metres
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